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M.Com. (Final)
Term End Examination, 2017

MANAGEMENT
Optional
Group - IV
Paper - III

Corporate Tax Planning and Management

Time : Three Hours] [Maximum Marks : 100
[Minimum Pass Marks : 36

e fRl e oyl % Sw S @ gl &
s o T |

Note : Answer any five questions. All questions carry
equal marks.

1. o= fEem 9 F1 afyye €2 = e
T ATGEE H SR FARY | R IqA=A kA
+ fau gema S|
What do you understand by Tax Planning ?

Distinguish between Tax Planning and Tax
Evasion. Give suggestions to restrict tax evasion.
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2. At Toay d@ie fa Tt 9IRdEm wEr R
eH S 1 9RaH fed €1 31 W=, 2016
H g™ g9 ¥ 3H e E ¥ e gd

(%)

(a) 99= =JIE™ & o™ 15,00,000
(b) T YRAE HEA X fa.

W (IS) 1,79,000
(¢) T R-Wq HA v fa

T A 40,000
(d) 51T WHR H gfayfaat

™ AN 20,000

(e) Y9 & TEI@IOT W
SrelehTet Yol oy 1,00,000

(f) 3Pl & TR W
refepret gSit ey
(I W 1 SHad, 2016
H A Ll TS
% WY 9 o9 W) 2,80,000

HAT 7 15 B, 2016 HI FHAHA L
@1 T8d ®¥ H ¥ 2,00,000 feu 9, S dH=
EHE % oY i MO H T8 e M ¥
FHOAT 7 F-THEROT gY 2016-17 & W H
AW P TG T 4,00,000 SH FEH T |
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FEAT Bl FA ™ H MUAT HIFT qAql
HEAT g1 AH R YIAE d9 S T
T F HI HIA & THENSH & ST I
F Hl TR FAART |

Shri Vallabh Cement Ltd. is an Indian Company
in which the public are substantially interested.

Its income from different sources for the year
ended on 31st March, 2016 was :

T

(a) Profit from the business of

cement 15,00,000
(b) Dividend (Net) from X Ltd.

an Indian Company 1,79,000
(¢) Dividend from Y Ltd. a non-

domestic company 40,000
(d) Interest on Central Government

Securities 20,000
(e) Long-term capital gains from

transfer of a building 1,00,000
(f) Long-term capital gains from

transfer of shares (These share

were sold on 1st Jan, 2016

through National Stock

Exchange) 2,80,000

It has paid on 15th February, 2016 a sum of
¥ 2,00,000 to the Prime Minister’s Drought

Relief Fund and this sum was not deducted while
arriving at the profits of cement business. The

Company has deposited
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¥ 4,00,000 towards Advance Payment of Tax for
the Assessment Year 2016-17.

Compute the Total Income of the company and
ascertain the net amount of income tax payable
after giving credit for Advance Payment of Tax.

3. Tk ¥ FMNUR &l WOAT & gd TR

& g<d ¥ e % @®Y & e ¥ =m
¥ W@ MO yqE fag awsmsu

Discuss the important points which should be
considered at the time of establishment of new
business in reference of form of organisation from
tax planning point of view.

4. Toer wga iR Ufeq 7w o™ & wre
T T FEE IR AT Al 9EE’l % ®9 °
71 foit fafies w9t & &9 4, 99 93
F Yol 3UEE T 15 A BN | HIEE
Y, STH W TAF b URIAHE &k ®9 H
7 15,000 AT AR 8 Wiawa anfier W =TS
frerre™ | g9 ¥ 18,00,00 3fiehfera feham |
LYY ATH T M I G @Y AT AT
F &9 H deanr X fean wmam)

AT H TR Siee fF F g Rafa o
TR F GUEl Bl A F W@ [ THR &
Wed &l g4, I8 AFd U b 3= gwartod
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G K ITAEl hlT AN AW & T
Al I T HL H L 30.9% To ATHA HY
W T 20% T

Mr. Rahul and Rohit proposed to set up a
business either as partnership or as a private
limited company, with capital contribution of ¥ 15
lakhs each. Profit of the business before charging
their remuneration of ¥ 15,000 per month each
and interest 8% per annum, is estimated at
¥ 18,00,000. Profits after tax are proposed to
be distributed equally as profit or dividend.

Advise them with appropriate working about the
form of organisation they should choose from
the point of view of tax implication involved in
each case, assuming that they have no income
other than from the proposed business. Tax on
total income is 30.9% and dividend tax is 20%.

5. 99 wwmfqaEi R fafaes, s fafies wd

T fafges ¥ 7= gR St @t Saeen #i:

R fa. S fa. T fa.
T T T
‘iTrﬁ 12,00,000 | 9,60,000 | 2,40,000
FIGA 10% - 2,40,000 | 9,60,000
EX fafr=mT 12,00,000 | 12,00,000 | 12,00,000
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faf=m ® genfia
TAOE @ : YIS HWA b fAu 25% A1
15% 91 8% &

L B ThA R (STIEIA)

Farey foh forget Joff X=m1 gafam © e

] ?

: 35%

Three companies R Ltd., S Ltd. and 7 Ltd.
raised the capital as under :

R Ltd. S Ltd. T Ltd.

T T T
Capital 12,00,000 | 9,60,000 2,40,000
10% Debentures - 2,40,000 9,60,000
Total Investment | 12,00,000 [ 12,00,000 | 12,00,000

Expected Rate of return

on Investment was :

Gross Rate of tax (Assumed) : 35%

25% or 15% or 8%

for each company

Explain whose capital structure is best and why ?

6. frefafaa w fewfoa fafay
(a) enyie Hfifd
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(b) STARTIAT ATHIA

(¢) a9 3

Write notes on the following :
(a) Dividend Policy

(b) Inter company dividend

(c) Bonus shares

7. AR Afufad § emuRyd €= v fUss
gt % fawm & faw & W wddfad &
TEYE HHSART |
Discuss the provisions of deductions provided for

development of infrastructure sector and
backward area under the Income Tax Act.

8. 31 WM, 2016 &l FHTH THAI d9 & fag
At fafres, st ff oo oty &= +
feerq &, o1 fogaor 99 yaR ©

(@) Fa fasma 718 IS
(b) T foma T2 WS
() JUHH HI Y T3 WS

SUSHA 7 1 3T, 2013 hI ST YRR o |
R Y a9 2016-17 & U 910 10AA &
ST Y G Y i O] DT T
I oY IqEl |
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The following are the details of Abhishree Ltd.
situated in a Special Economic Zone for the year
ending 31st March, 2016 :

(a) Total turnover T 18 crore
(b) Export Turnover T 12 crore

(c) Profit of the business ¥ 3 crore

The undertaking started production on 1.4.2013.
Compute the deduction available
U/S 10AA for the Assessment Year 2016-17.

9. FHHAIT & GHHAT 1 ThHIHLOT i < H
EeR AT & YEMEl Bl G|

Explain the provisions of Income Tax Act relating
to amalgamation of companies.

10. ‘SIfm R’ W AT PN GEIA € 2 THH! AT
FY H A T? THR! PAH KW Heedt
AT AUIH & YEuH 9HIET |

What do you understand by ‘Advance Tax’ ?
How is it computed? Discuss the provisions of
Income Tax Act regarding its payment.
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